TAIL LIGHT & LICErNSE PLATE HOLDER

Poris included:

1 Tail Light; ond Bose 1 Hordwore Kib Including:

1 Tail Light; Gaskeb 2 5/16"-24 x 3/8" Hex Bolt

1 License Base ond Pod 2 5/16" Internol Teoth Lock Washer

1 License Frome 1 5/16"-18 x 1-1/u" Hex Bolt

1 Wiring AdapLer 1 5/16"-18 Nylon Insert Lock Nub
1 #8-32 x 12" Sockeb Heod Screw
1 #8 Internol Toobh Lock Washer
b 5" Goble Tie
1 Dielectric Grease Pockel
] Mounbi Brackeb

I Hation I _ 1 ] Aluminum Spocer

1

Fooam Plug 1/2" x I

1. If possible, put: Ghe moborcycle on a lift, cenber stand or other ype of stoble jock.
Remove seak, saddiebongs and disconnech negabive basbery Germinal.,

NOTE:

2. Under bhe rear edge of Ghe fender Ghere is o light: module with plugs enbering on Ciro producks ore designed
: = . . maonufoctured
both the left: and right side. Remove Ghe block plossic cover and seb aside. and. . "’"":’w":"!'
Disconnect he wiring connector on Ghe right side. Ploce 6he I” x 12" fonm plug in smmﬁ“"'“'":m‘m” "pmm"""“"" < sold
Ghe empbiy wiring socket, Ghen reinstall Ghe binck plastic cover. bo bhe original purchaser shall
be free from any defecks in
3. Use 0 7/I6" socket: 5o remove the /4" wire resgainer nub. Set the nub aside 6o materiols and workmanship for
re-use in step 9. a period of 3 [6hree] yeors from
bhe dobe of purchose, and o
lifesime warranby aguinst LED
4. Use 0 1/2" socket o remove the 5/16” bolts holding Ghe stock Stop/Tail/Turn light § migre.
baor. Remove Ghe ligh: bor and license holder. Set Ghe wire reGainer aside Go re-use. | Gira will hove no obligotion if
Ghe cust:omer cannol; show
praof of purchose.
Warranby will nob be granbed
_ \\ unless he pork is properiy
This e Ghe installed ond mointgined.
correct wire Ciro will not; be lighle for any
paih. IG goes ' consequenkiol ond incidenbal
beLween Ghe 4 domnges, including inbor, or
ligh housing lmm-l}irnprnducbs.
and rubber ‘,\ Plense visil our website
gaskes. | Bire3d.com for our complebe
vqwmrnnbypaucy.

L!

G0040051, REV. -



5. Install Ghe Cire light: bar and iss masching rubber goskes. Use Ghe 5/16-24 bolss and lock
washers, finger Gight: only. The wire cable goes between Ghe light housing ond goskes.

Correch paGh beGween Ghe license base aond rubber gaskel

b. Roube Ghe wire cable Ghrough Ghe license piaGe bose. The wire cahble passes beGween
Ghe chrome and rabber gosket Ghen Ghrough Ghe hole in Ghe rubber ond inGo Ghe fender.

7. Move Ghe license pioGe holder up Go Ghe hoGGom of Ghe lightG housing keeping iG Gighl: Go
Ghe fender. Install Ghe 5/16"-18 x1-1/4 holk: in Ghe license holder and inko Ghe fender-.

8. Under Ghe fender hold Ghe sGeel brockeb over Ghe 5/16”7 holb, aluminum spacer, and 1/u”
stud. Use a 1/2" sockel 6o instGall Ghe 5/16" nuk.

9. Run he wire cahble Ghrough Ghe wire cable reGainer and use a 7/16" sockeb Go install Ghe
I/u” nuk. ']
{

10. Check Ghob Ghe wire cable is nob pinched, follows o smooGh poGh, ond is close o Ghe fender.

——

G0040051, REV. -



Ghe DEM wire cable.

12. The wire cable will poss up behind Ghe filler panel on Ghe oubside of Ghe Ffender, follow Ghe
OEM wire cable o Ghe froni of Ghe fender support, Ghen pass Ghe wire cabile up under Ghe
Fender supportG bebGween Ghe frome and inGo Ghe seab pon area above Ghe baGGery. Zip Gie Ghe
new wire cable o Ghe OEM wire cable every few inches.

13. 2011 and newer moborcycles: Iocabe Ghe 6-pin rear Gaoil lighG haorness connechor under Ghe
seab. Disconnech Ghis and plug Ciro Goil ligh horness in-line wiGh iG. Apply o smoll amount: of
diglechric grease, Ghen plug in Ghe Ciro Goil ligh connecGor.

s/',’ '8 £p UU[ £
/)
/

. 2010-2013 moGorcycles: remove Ghe lefG side cover. Locabe Ghe 6-pin reoar Gail lighG horness.
Disconnech Ghis and plug Ciro Gaoil light horness in-line with iG. Run Ghe 6-pin Goil lighG

connechor up under Ghe seabl, apply o smoll amount of dielechGric grease, Ghen plag in Ghe ‘
Ciro Goil ligh connechGor.

15. GenGly hend your license pinbe wikih your hands unbil Ghe curve maGbohes Ghe bose plaGe,
Ghen loy Ghe license plabe onGo Ghe bose and insGall Ghe frome over ibG.

—— T =

16. InsGall Ghe #8-32 Allen screw and lock washer inGo Ghe hoGGom of Ghe license frame. Make
sure Ghal Ghe screw is hehind Ghe license piaGe.

17. Check Ghal Ghe Gail light aond license holder aore level with Ghe moGorcycle and GighGen all
FasGeners. Turn on accessoriyy power Go verify Ghob Ghe light is funcGioning correcily, Ghen
reinstGail seab and soddlebags.

0040051, REV. -



	G0040051 Tail Light _ License Plate Holder-01
	G0040051 Tail Light _ License Plate Holder-02
	G0040051 Tail Light _ License Plate Holder-03

